1.Vypište do tabulky tvary množného čísla.
	man
	
	knife
	
	wife
	

	child
	
	fish
	
	husband
	

	woman
	
	loaf
	
	tooth
	

	sheep
	
	box
	
	goose
	

	foot
	
	mouse
	
	potato
	

	thief
	
	person
	
	knife
	

	tomato
	
	body
	
	boy
	


2.Přeložte:
dvě jablka

dva muži

dvě ryby

dvě děti

dva lidé

dva mosty

dvě rajčata

dvě ženy

dvě kočky

dvě myši

dva pomeranče

dvě ovce

dvě restaurace

dvě knížky

dvě manželky

dva zuby

3.Vyberte správný tvar množného čísla.
1.This family has got three……….( child, childrens, children)
2.I must go to the dentist because of my two…………..(tooth, tooths, teeth)

3.Our cat caught two……….(mouses, mices, mice) yesterday.

4.Her brother is a farmer. He has got five………(sheep, sheeps,sheepes), two………

( donkeys, donkies, donkys)and six ………….( gooses, geese,geeses) .

5.My son has got many …………(fishes, fish, fishis) in his aquarium.

6.The …………(bois, boys, boyses) built two…………….( snowmans, snowmen, snowmens).

7.There were …………..(ladys, ladies, ladyes) and ………………( gentleman, gentleman, gentlemens).

8.We saw two ………….( wolves, wolfes, wolvs) in the wood.

9.I bought two new …………( scarfes, scarves, scarfs).

10.He was very hungry and ate two ……….(loaves, loafes, loafs) of bread.

Řešení:

	man
	men
	knife
	knives
	wife
	wives

	child
	children
	fish
	fish
	husband
	husbands

	woman
	women
	loaf
	loaves
	tooth
	teeth

	sheep
	sheep
	box
	boxes
	goose
	geese

	foot
	feet
	mouse
	mice
	potato
	potatoes

	thief
	thieves
	person
	people
	knife
	knives

	tomato
	tomatoes
	body
	bodies
	boy
	boys


Přeložte:
Two apples, two men

Two fish, two children

Two people, two bridges

Two tomatoes, two women

Two cats, two mice

Two oranges, two sheep
Two restaurants, two books

Two wives, two teeth

3.Vyberte správný tvar množného čísla.

1-children, 2- teeth, 3- mice, 4-sheep, donkeys, geese, 5-fish, 6-boys, snowmen, 7-ladies, gentlemen, 8-wolves, 9-scarves, 10-loaves
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